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5



  



  

  

  

  

  

  

  

  

  

  

  

  
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



‘O’

 

 



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




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


















205

520











9

KL-24

V-0045

KL-82

6713
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KL - 32

4050
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10000 - 10

10000

10

10 1000 10000 

100

100 100 10000 

10000 500

2000

30000

20000
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23567

23567

2356 7

235 67

23

2

235 6 7

23 56

23 5

2 35 67

2 3

62547
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2    3    4    7

3    6    2    8    5

5    6    4    7    0

8    5    4    6    3

3    6    5    7    4

6    3    4    6

5    6    4    4    0

3

(6).

5 2 2

36285,  36574

56470,  56440

5 - 5 

6 - 6

4 - 4 

7 - 4 7

56440, 56470 85463

2 3 4 7

6 3 4 6

3 6 2 8 5

3 6 5 7 4

5 6 4 4 0

5 6 4 7 0

8 5 4 6 3
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5050,  55055,  50550,  505,  5500,  55500

80516, 79819, 81310, 79999, 80917, 81518, 80500, 81018
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256 400

4 40 100

256 260 300 400

100 + 40 + 4 = 144

2354 5000

6 40 2000

2354 2360 2400 3000 5000

2000 +   + 40 + 6 = 2646

4327 9000

600 4000

4327 4400 5000 9000

4000 + 600+   = 4673

673 4000

4327 5000 9000

4000 + 673 = 4673

4000 673

4327 8327 9000

4000 + 673 = 4673
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1. 4632 7000

2. 5346 8000

3. 3040 6000

2356 5000

5000 2356

5000 -

2356

       
  _______

1

4999 -

2355

2644

6000 - 1345

5999 -

1344

       

4000 - 3246 = 3999-3245 =

5000 - 2134

6000 - 3333

9000 - 5041

7000 - 4386

3000 - 2919

8000 - 6347
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4   5 = 20 6   5 = 30 8   5 = 40

2   10 = 20 3   10 = 30 4   10 = 40

12  10 = 24  5 =

14  10 = 28  5 =

16  10 = 32  5 =

18  10 = 36  5 =

32  50 = 16  100 = 1600

44  50 = 22  100 = 1100

50  50 = 25  100 = 2500

36  50  =

64  50  =

72  50  =

88  50  =

90  50  =

17  50

16  50 = 800

800 50

17  50 = 800 + 50 = 850
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23   50 22  50 50

23  50 = (22  50) +50

1100 + 50 = 1150

27  50  =

31  50  =

43  50  =

47  50  =

55  50  =

12   18 = 216

12  18 = 216 8   6 = 48 16   14 = 224 24   12 = 288

6  18 = 108 8   3 = 24 8    14 = ....... 12    12 = .......

12  9 = 108 4   6 = 24 16    7 = ....... 24    6 = .......

24  18 = 432 18   16 = 288

24   9 =  9   16 =  

12   18 =  18   8 =  



19

8   6 = 48 12   18 = 216

16   6 = 96 24   18 = 432

8   12 = 96 12   36 = 432

14  16 = 224 12   18 = 216

28  16 =  24   18 = 

14   32 = 12   36 = 

14   16 = 224

28   32

28   32 = 

26  18 = 468 

13  18  =  52   9   = 

26  9    =  52   18 = 

13  36  =  26   36 = 
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i) .............................................................

............................................

........................................................................

.........................................................................

...............................

ii) .............................................................

............................................

........................................................................

.........................................................................

...............................
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1. 35  7 =

2. 150  5 =

3. 270  9 =

4. 366  6 =

5. 648  8 =



22

3
4

3
4

1
4

3
4

1
4

1
2

3
4

i.

ii.

iii.



23

i. =

ii. =

iii. =

5

8
5

7

4

i.

ii.

iii. = 
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i. 2, 4, 6, , ,

ii. 5, 10, 15, , ,

iii. 4, 8, 12, , ,

iv. 3, 6, 9, , ,

v. 60, 50, 40, , ,

vi. 2, 4, 8, , ,

vii. 3, 6, 12, , ,

viii. 5, 15, 45, , ,

i. ii.

iii.

60   =  10  6   =   2   5   6   =   2  5  2  3

50 =

20 =

30 =

2  9 = 

3  6 = 

1  18 = 

5  6 = 

2   = 30

  30 = 30

3   = 30

2   5 = 30

10 6
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i.

ii.

iii.

i.

ii.

iii.

iv.

i.

ii.

iii.

iv.

v.

vi.

vii.

1 2 3 4

2 3 4 3

3 4 2 1

4 3 2 1
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i.

ii.

iii.


